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9. $>?L >G?LFGD=>= ?4<OF< 6 ?>D>645=<< < <=F5D?D5F4F<< >5D474.
10. )G4>65EF65==O= >5D47 6 <EF>D<G5E>>< D476<F<< >G?LFGDO <

<E>GEEF64.
11. #D><76545=<5 <E>GEEF64 >4> EG4>65EF65==4O <>45?L <<D4.
12. �E>GEEF6> >4> E5<<>F<G5E>4O E<EF5<4 6 >>=F5>EF5 >G?LFGDO.

13. )G4>65EF65==O= O7O> >4> G?>DO4>G5==>5 6 GG6EF65==>->>=>D5F=>=
D>D<5 EG4>65EF65==>5 E>>5M5=<5, 6OE>47O64=<5.

14. #D><76545=<5 <E>GEEF64 >4> E?>6=> ?>EFD>5==O= E<OE? (F5>EF).
15. )G4>65EF65==4O <>45?L <<D4 >4> D54?<74F<O F6>DG5E>>7> 74<OE?4

(<45<) EG4>6=<>4.
16. %?5F<D<>4 O7O>4 D47?<G=OE 6<4>6 <E>GEEF64 (O7O> 6<6>?<E<,

4DE<F5>FGDO)

17. $47=>6<4=>EF< <5F>4>?>7<G5E><E ?D<=F<?>6 4=4?<74 ?D><76545=<O
<E>GEEF64 (MEF5F<G5E><=, <E>GEEF6>654G5E><=, >G?LFGD>?>7<G5E><=,
EFDG>FGD=>-E5<<>F<G5E><=, ?E<E>4=4?<F<G5E><=).

18.  <D>?>7<G5E><= < <EF>D<>>-<<D>?>7<G5E><= 64=D 6 6<6>?<E<.
19. �=F<G=O5 >4=>=O 6 ??4EF<G5E>>< <E>GEEF65.
20. -EF5F<G5E><5 <454?O 6 D47?<G=OE >G?LFGD4E.
21. �5EF 6 <7>5D47<F5?L=><<E>GEEF65
22. )G4>65EF65==O= >5D47 <<D4 < EG4>65EF65==4O >4DF<=4 <<D4
23. �E>GEEF6> >4> E5<<>F<G5E>4O E<EF5<4 6 >>=F5>EF5 >G?LFGDO.

24. �EF>D<>>->G?LFGD=O5 E<OE?O EG4>65EF65==>7> ?D><76545=<O.
25. %5<4=F<>4 < E>45D64F5?L=O5 7D4=<FO 64=D>6 <7>5D47<F5?L=>7>

<E>GEEF64.
26. �G?LFGD>?>7<G5E><= ?>4E>4 > 4=4?<7G < <=F5D?D5F4F<< ?D><76545=<=

<E>GEEF64.
27. �4=DO < 64=D>6O5 <>4<D<>4F<< E>G?L?FGDO (<EF>D<G5E><= <

5OF>6>= ?>DFD5F, <5<>D<4?L=4O, >G?LF>64O, 45>>D4F<6=4O, «?4=4L4DF=4O»
E>G?L?FGD4 < F. 4.),



28. �4=DO < 64=D>6O5 <>4<D<>4F<< 6<6>?<E< (5OF>6>=,
<<D>?>7<G5E><=, <EF>D<G5E><= 64=DO, <>>=4, ?>DFD5F, =4FND<>DF, ?5=746,

<4D<=4, >=<6=4O <<=<4FND4 < F. 4.),
29. �4=DO < 64=D>6O5 <>4<D<>4F<< 7D4D<>< (EF4=>>64O, >=<6=4O,

?D<>?44=4O 7D4D<>4, ??4>4F).
30. �OO6?5=<5 «?E<E>?>7<<» < «<45>?>7<<» ?D><76545=<O <E>GEEF64

(4<4?>7 E ?<G=>EFLN EG4>6=<>4, 6>??>M4NM5= 6 ?D><76545=<< >?D545?5==>5
E>F<4?L=>-<EF>D<G5E>>5 <<D>6>77D5=<5, 6OO6?5=<5 6 7D<<OE >5D474E 6OD465=<O
4GE>6=>= EGF< >G?LFGD).

31. �=F5D?D5F4F<O ?D><76545=<O E ?>7<F<= E>6D5<5==>= >G?LFGDO.

32. #D>=<>=>65=<5 6 74<OE5? EG4>6=<>4 < >G?LFGDG M?>E< < EFD4=O,

?>D>4<6L55 44==>5 ?D><76545=<5 <E>GEEF64.

�D4>F<K9E>4S D45BF4 1.

"9@4:�E>GEEF6B 6 E<EF9@9 >G?PFGDO.

�?4A.

1. �><<G=<>4F<6=O= < 4<4?>7<G5E><= E4D4>F5D <E>GEEF64 (?>D>644NM55 <
6>E?D<=<<4NM55 E>7=4=<5).

2. #D><76545=<5 <E>GEEF64 < MEF5F<G5E>4O DG=>F<O. %>6D5<5==4O E<EF5<4
?D54EF46?5=<= > ED5D5 EG4>65EF65==>7> F6>DG5EF64 >4> MEF5F<G5E>>=
45OF5?L=>EF<.

3. #D>5?5<4 D>D<O < E>45D64=<O 6 <E>GEEF65. -EF5F<G5E>>5 GG6EF6>.
 >DD>?>7<O <E>GEEF64. #D>5?5<4 6>E?D<OF<O < ?>=<<4=<O ?D><76545=<O
<E>GEEF64.

�D4>F<K9E>4S D45BF4 2.

"9@4:�5D4;ABEFP >4> BF?<K<F9?PA4S K9DF4 IG8B:9EF69AAB7B @OL?9A<S.

�?4A.

1. )G4>65EF65==O= >5D47 >4> MEF5F<G5E><= 7=4>, >E=>6=O5 57> >E>55==>EF<
(>5D47 >4> D>D<>E<OE?).

2. %?5F<D<G5E><5 G5DFO EG4>65EF65==>7> >5D474: E<=F5F<G=>EFL,
F5?>EF=>EFL, ?D<=44?56=>EFL E>7=4=<N, E>45D64F5?L=>EFL.

3. $>?L >G?LFGD=>= ?4<OF< 6 ?>D>645=<< < <=F5D?D5F4F<< >5D474.
)G4>65EF65==O= >5D47 6 <EF>D<G5E>>< D476<F<< >G?LFGDO < <E>GEEF64.

4. #D><76545=<5 <E>GEEF64 >4> EG4>65EF65==4O <>45?L <<D4.

�D4>F<K9E>4S D45BF4 3.

"9@4:�E>GEEF6B >4> E9@<BF<K9E>4S E<EF9@4 6 >BAF9>EF9 >G?PFGDO.

�?4A.



1. %?5F<D<>4 EG4>65EF65==>= >><<G=<>4F<< < <=D>D<4F<<.

2. #>=OF<O «O7O> <E>GEEF64», «EG4>65EF65==O= F5>EF», «EG4>65EF65==O=
<4F5D<4?», «EG4>65EF65==>5 E>45D64=<5», «EG4>65EF65==4O D>D<4»,

«EG4>65EF65==O= >5D47».

3. %?5F<D<>4 O7O>4 D47?<G=OE 6<4>6 <E>GEEF64. /7O> 6<6>?<E<,

4DE<F5>FGDO, ><=>, F54FD4, <G7O><, ?<F5D4FGDO. #D>5?5<4
674<<>45=EF6<O <E>GEEF6.

4. )G4>65EF65==O= >>=F5>EF < >>=F5>EF >G?LFGDO. "?<E4=<5, 4=4?<7 <
<=F5D?D5F4F<O.

�D4>F<K9E>4SD45BF4 4

"9@4:�<8O <AF9DCD9F4J<< IG8B:9EF69AAB7B CDB<;6989A<S.

�?4A.

1. "E=>6=O5 <5F>4>?>7<G5E><5 ?D<=F<?O 4=4?<74 ?D><76545=<O <E>GEEF64:
MEF5F<G5E><=, <E>GEEF6>654G5E><=, >G?LFGD>?>7<G5E><=, EFDG>FGD=>-
E5<<>F<G5E><=, ?E<E>4=4?<F<G5E><= < 4D.

2. %?5F<D<>4 EG4>65EF65==>= <=F5D?D5F4F<<: FD4=ED>D<4F<O E<OE?4,
EG4>65EF65==OE >5D47>6, E?>E>5>6 6>745=EF6<O =4 G<F4F5?O (7D<F5?O,
E?GL4F5?O), >5GE?>6?5==4O ?D<D>4>= <E>GEEF64 < <<D>>MGM5=<5<
EG4>6=<>4.

3. �5D<5=56F<G5E><=<5F>4<=F5D?D5F4F<<EG4>65EF65==>7>?D><76545=<O.
4. %5<<>F<G5E><=<5F>4<=F5D?D5F4F<<EG4>65EF65==>7>?D><76545=<O.
5. �G?LFGD>?>7<G5E><=<5F>4<=F5D?D5F4F<<EG4>65EF65==>7>?D><76545=<O.
6. #E<E>4=4?<F<G5E><=<5F>4<=F5D?D5F4F<<EG4>65EF65==>7>?D><76545=<O.

�D4>F<K9E>4S D45BF4 5

"9@4:�A4?<; 7D4H<K9E>B7B CDB<;6989A<S <E>GEEF64
�484A<9: EFG45=F><=4 E6>= 6O5>D, 4=4?<7<DG5FEO D5?D>4G>F<O

7D4D<G5E>>7> ?D><76545=<O  ?> D4EE<>FD5==><G ??4=G, E GG5F>< E?5F<D<><
?D><76545=<= 44==>7> 6<44 <E>GEEF64.

�444=<5 6O?>?=O5FEO =4 ?<EF5 D>D<4F4 �-4, >D>D<?O5FEO 6 D4=? 6<5EF5 E
D5?D>4G>F<5=.

�D<@9DAO= C?4A 4A4?<;4 7D4H<K9E>B7B CDB<;6989A<S <E>GEEF64:

1. "5M55 >?D545?5=<5 ?D>EFD4=EF65==>= E<FG4F<<, E4D4>F5D<EF<><
<7>5D465==>7> ?D>EFD4=EF64.

2.  #D>EFD4=EF6> – 7?G5>>>5 <?< =5F, 74<>=GF>5 <?< >F>DOF>5, =4 >4>><
??4=5 E>ED54>F>G5=O 4>F5=FO.



3. #D5>5?444NM<5 (=4<5>?55 EGM5EF65==O5 4?O MF>7>
?D><76545=<O)ED54EF64 ?>EFD>5=<O 7?G5<=O < <E <E?>?L7>64=<5. !4?D<<5D:
E4D4>F5D ?<=5==>= <?< 6>7-4GL=>= ?5DE?5>F<6O (5E?< >=4 <E?>?L7>64=4).

4. )4D4>F5D<EF<>< <7>5D465==>7> ?D>EFD4=EF64. *5?>EF=>EFL/
D4EG?5=5==>EFL ?D>EFD4=EF64.

5. �5?5=<5 =4 ??4=O, D4E?D545?5=<5 6=<<4=<O (6O45?5==>EFL F5E <?<
<=OE ??4=>6 <?< D46=><5D=>EFL 6>E?D<OF<O). &>G>4 7D5=<O.

6.  �74<<>45=EF6<5 7D<F5?O < <7>5D465==>7> ?D>EFD4=EF64 (MF>F ?G=>F
=5>5E>4<<, 4465 5E?< =5F <7>5D465=<O 7?G5<==>7> ?D>EFD4=EF64).

7.  $4E?>?>65=<5, E>>F=>L5=<5, 674<<>E6O7< M?5<5=F>6 =4 ??>E>>EF< < 6
?D>EFD4=EF65.

8.  "?D545?5=<5 F<?4 >><?>7<F<< – 5E?< MF> 6>7<>6=>. � 44?L=5=L5< –

GF>G=5=<5: >4> <<5==> MF>F F<? >><?>7<F<< 6>??>M5= 6 44==>< 7D4D<G5E>><
?D><76545=<<, >4>>6O =N4=EO 57> <E?>?L7>64=<O. )4D4>F5D<EF<>< D>D<4F4
(D47<5D ?D>?>DF<<).

9. %>>F=>L5=<5 D>D<4F4 < >><?>7<F<<: <7>5D465=<5 < 57> 7D4=<FO.

$4E?D545?5=<5 <4EE 6 ?D545?4E ?<EF4.
10. �><?>7<F<>==O= 4>F5=F < 57> D4E?>?>65=<5; 57> E>>F=>L5=<5 E

4DG7<<< M?5<5=F4<<; 4><<=<DGNM<5 =4?D46?5=<O: 4<=4<<>4 < EF4F<>4.
11. �74<<>45=EF6<5 >E=>6=OE M?5<5=F>6 >><?>7<F<< E ?D>EFD4=EF65==>=

EFDG>FGD>=, D4EEF4=>6>4 4>F5=F>6.
12. �=4?<7 7D4D<G5E>>= F5E=<><.

13. �F>7 4=4?<74 – 6OO6?5=<5 ?D<=F<?>6 ?>EFD>5=<O D>D<O, 55
6OD47<F5?L=OE >4G5EF6 < 6>745=EF6<O.

14. �EE>4O <7 D>D<4?L=OE < 6OD47<F5?L=OE >4G5EF6 ?D><76545=<O,
<>6=> EF4-6<FL 6>?D>E > 57> E<OE?5 (E>45D64=<<, <455) F.5. ?5D5E>4<FL > 57>
<=F5D?D5F4F<<. #D< MF>< =5>5E>4<<> GG<FO64FL EN65F(>4> FD4>F>64= EN65F 6
MF>< ?D><76545=<<?), E?5F<D<>G <7>5D465=<O ?5DE>=465= (6 EN65F=>=
>4DF<=5 < ?>DFD5F5 – ?>7O, 65EFO, <<<<>4, 677?O4), E<<6>?<>G (5E?< >=4
<<55FEO) < F.4., E?54>64F5?L=>, 6>745=EF6<5 >4DF<=O.

15. �>7<>6=> F4> 65 E>>F=5E5=<5 6OO6?5==OE <=4<6<4G4?L=OE
>E>55==>EF5= ?D><76545=<O E FD55>64=<O<< 6<44 < 64=D4, > >>F>DO< >=> ?D<-
=44?56<F, E 5>?55 L<D>><< EG4>65EF65==O< >>=F5>EF>< (F6>DG5EF6> 46F>D4 6
F5?><: <E>GEEF6> M?>E<, L>>?O < F.4.).

16. �7 MF>7> <>65F E?54>64FL 6O6>4 > F5==>EF< < 7=4G5=<< ?D><76545=<O,
57> <5EF5 6 <EF>D<< <E>GEEF64.



�D4>F<K9E>4S D45BF4 6

"9@4: �A4?<; :<6BC<EAB7B CDB<;6989A<S <E>GEEF64

�484A<9: EFG45=F>< =4 E6>= 6O5>D, 4=4?<7<DG5FEO D5?D>4G>F<O
6<6>?<E=>7> ?D><76545=<O  ?> D4EE<>FD5==><G ??4=G, E GG5F>< E?5F<D<><
?D><76545=<= 44==>7> 6<44 <E>GEEF64.

�444=<5 6O?>?=O5FEO =4 ?<EF5 D>D<4F4 �-4, >D>D<?O5FEO 6 D4=? 6<5EF5 E
D5?D>4G>F<5=.

�D<@9DAO= C?4A 4A4?<;4 :<6BC<EAB7B CDB<;6989A<S <E>GEEF64:

1.�6F>D, =4764=<5 ?D><76545=<O, 6D5<O < <5EF> E>744=<O, <EF>D<O
74<OE?4 < 57> 6>??>M5=<5. �O5>D <>45?<.

2.%F<?L, =4?D46?5=<5.
3.�<4 6<6>?<E<: EF4=>>64O, <>=G<5=F4?L=4O (DD5E>4, F5<?5D4, <>74<>4).
4.�O5>D <4F5D<4?4 (4?O EF4=>>6>= 6<6>?<E<): <4E?O=O5 >D4E><,

4>64D5?L, 7G4LL, ?4EF5?L. )4D4>F5D=>EFL <E?>?L7>64=<O 44==>7> <4F5D<4?4 4?O
EG4>6=<>4.

5.�4=D 6<6>?<E< (?>DFD5F, ?5=746, =4FND<>DF, <EF>D<G5E>4O 6<6>?<EL,
?4=>D4<4, 4<>D4<4, <>>=>?<EL, <4D<=4, <<D>?>7<G5E><= 64=D, 5OF>6>= 64=D).
)4D4>F5D=>EFL 64=D4 4?O D45>F EG4>6=<>4.

6.�<6>?<E=O= EN65F. %<<6>?<G5E>>5 E>45D64=<5 (5E?< 5EFL).
7.�<6>?<E=O5 E4D4>F5D<EF<>< ?D><76545=<O:

• F65F;
• E65F;
• >5N5<;

• ??>E>>EF=>EFL;
• >>?>D<F;
• EG4>65EF65==>5 ?D>EFD4=EF6> (?D>EFD4=EF6>, ?D5>5D465==>5

EG4>6=<>><);

• ?<=<O.
8.�5F4?<.

9.�<G=>5 6?5G4F?5=<5, ?>?GG5==>5 ?D< ?D>E<>FD5 ?D><76545=<O.

�D4>F<K9E>4S D45BF4 7

"9@4: �A4?<; E>G?PCFGDO
�484A<9: EFG45=F>< =4 E6>= 6O5>D, 4=4?<7<DG5FEO E>G?L?FGD=>5

?D><76545=<O (?4<OF=<>, 5NEF, D5?L5D < F.4.) ?> D4EE<>FD5==><G ??4=G, E
GG5F>< E?5F<D<>< ?D><76545=<= 44==>7> 6<44 <E>GEEF64.

#D< 4=4?<75 ?D><76545=<= E>G?L?FGDO =5>5E>4<<> GG<FO64FL
E>5EF65==O5 ?4D4<5FDO E>G?L?FGDO >4> 6<44 <E>GEEF64. %>G?L?FGD4 – MF> 6<4



<E>GEEF64, 6 >>F>D>< D54?L=O= FDUE<5D=O= >5NU< 674<<>45=EF6G5F E
>>DG64NM<< 57> FDUE<5D=O< ?D>EFD4=EF6><. �?46=>5 6 4=4?<75 E>G?L?FGDO –

>5NU<, ?D>EFD4=EF6> < F>, >4> >=< 674<<>45=EF6GNF.  4F5D<4?O E>G?L?FGDO.

�<4O E>G?L?FGDO. �4=DO E>G?L?FGDO.

�444=<5 6O?>?=O5FEO =4 ?<EF5 D>D<4F4 �-4, >D>D<?O5FEO 6 D4=? 6<5EF5 E
D5?D>4G>F<5=.

�D<@9DAO= C?4A 4A4?<;4 E>G?PCFGDO:

1.  �4>>6 D47<5D MF>= E>G?L?FGDO? %>G?L?FGD4 5O645F <>=G<5=F4?L=4O,
EF4=>>64O, <<=<4FND=4O. $47<5D 6?<O5F =4 F>, >4> >=4 674<<>45=EF6G5F E
?D>EFD4=EF6><.

2.  � >4>>< ?D>EFD4=EF65 D4E?>?474?>EL 4=4?<7<DG5<>5 ?D><76545=<5 (6
ED4<5, =4 ??>M44<, 6 4><5 < F. 4.)? !4 >4>GN F>G>G 7D5=<O >=> 5O?> D4EEG<F4=>
(<744?<, E=<7G, 65?<7<)? /6?O5FEO ?< >=> G4EFLN 4DE<F5>FGD=>7> <?<
E>G?L?FGD=>7> 4=E4<5?O <?< MF> E4<>EF>OF5?L=>5 ?D><76545=<5?

3.  !4E>>?L>> D4EE<4FD<645<>5 ?D><76545=<5 >E64FO645F FD5E<5D=>5
?D>EFD4=EF6> (>DG7?4O E>G?L?FGD4 < E>G?L?FGD4, E6O74==4O E 4DE<F5>FGD>=;

4DE<F5>FGD=>-E>G?L?FGD=4O D>D<4, 7>D5?L5D; D5?L5D; 54D5?L5D; 6<6>?<E=O=
D5?L5D; >>=FDD5?L5D)

4.  � >4>>< <4F5D<4?5 >=4 6O?>?=5=4? �4>>6O >E>55==>EF< MF>7>
<4F5D<4?4? �465 5E?< �O 4=4?<7<DG5F5 E?5?><, 646=> ?><=<FL, <7 >4>>7>
<4F5D<4?4 5O? E45?4= >D<7<=4?. %E>4<F5 6 74?O ?>4?<==<>>6, ?>E<>FD<F5, >4>
6O7?O4<F E>G?L?FGD4, 6O?>?=5==4O 6 <=F5D5EGNM5< 64E <4F5D<4?5. �4><5
>E>55==>EF< E>G?L?FGDO ?D>4<>F>64=O 5U <4F5D<4?>< (?>G5<G 4?O MF>7>
?D><76545=<O 5O? 6O5D4= <<5==> MF>F <4F5D<4?)?

5.  $4EEG<F4=4 ?< E>G?L?FGD4 =4 D<>E<D>64==O5 F>G>< 7D5=<O, <?<
?>?=>EFLN D4E>DO645FEO ?D< >DG7>6>< >5E>45? %>>?L>> 74>>=G5==OE
6OD47<F5?L=OE E<?GMF>6 G MF>= E>G?L?FGDO? �4>>6O MF< E<?GMFO (74<>=GFO=,

>><?4>F=O=, 75><5FD<G5E>< ?D46<?L=O= <?< 6<6>?<E=O=, D47><>=GFO=)? �4>
E<?GMFO E6O74=O 4DG7 E 4DG7><?

6.  �4>>6O ?D>?>DF<< (E>>F=>L5=<O G4EF5= < F5?>7>) 6 44==>=
E>G?L?FGD5 <?< E>G?L?FGD=>= 7DG??5? �4>>6O ?D>?>DF<< G5?>65G5E>>=
D<7GDO?

7.  �4>>6 D<EG=>> E>G?L?FGDO (D47D45>F>4 < GE?>6=5=<5 >F=>L5=<=
<564G 5>?LL<<< >><?>7<F<>==O<< 5?>>4<<, D<F< 6=GFD5==<E G?5=5=<= <
E4D4>F5D D47D45>F>< ?>65DE=>EF<)? �E?< D5GL <45F > D5?L5D5 – >4> <5=O5FEO
F5?>5 ?D< E<5=5 G7?4 7D5=<O? �4> 64DL<DG5FEO 7?G5<=4 D5?L5D4 < 6OEFD>5=O
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